PHY 415 Solutions Problem Set 8

1) ) 30%6/@: (//xxw%( 5 G = —e/N§sx o fu%ZZL g‘;f(.(
: +e M &x on Vé%f’ J’wQ
| (lULKU"J? N Ha &Zém»ﬁ g comAicitzon e lecteons

‘i“@a . O O/Q“‘ﬁz M -0, on Qf"f&y //‘/{"/74’
The Mq{ o boeferres .

/L/ :
) A Y /\
=TGR =g4meNix K E g

wfﬂw X s ,O(QM/PLC«N ;MMXJ Mﬂ&f%ﬁw

W = MQN\/E a}’%ﬁm& V' Wéu,\ﬁ\

}

todad nress g o hefonr b M o= /\/'\/ |
N euwrdon’s L@/LW ‘g vecttens

P= Ma = —eNVE = ‘MA/Vf
~e& = Z a = §x X
1 A"

= gx:—é‘?/’ézﬁ S %

= wvavz,( haimnie m,m)—@% (,,mut’[?\ M
? 477@ J’é,ﬁ I (f”ﬁi//éts’méz g@@j

\/"1



2)

WY

T
/7 /f=/ | et \

D) \»MMJW" o~ fwyff :
These comdidions = (D=0 > hre ‘a"“’(
ky = A iﬁwm G uevecte

_ ’ . e 'mﬁ/Aa.
ky =&y e Apﬁtp‘{ |
b)  wawe ¢ ae pelated W ’["7“5’”‘7 by
e ch /Z,Z: 22:.{
-1 92 2
o nosen [l ] = g‘i

- 2 ‘
dieledne | = hZ o k=Y &







